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SECTION I (50 MKS)

Attempt all questions.

1. Use tables of reciprocal only to evaluate 0.325 hence evaluate : 3~ 0.000125
(3mks)
0.325.
. Two boys and a girl shared some money. The elder got 4 O &f it, the younger boy got

2 udf the remainder and the girlg ot the rest. Find the percentage share of the
younger boy to the girls share.

(3mks)

3. Annette has some money in two denominations only. Fifty shillings notes and twenty

shilling coins. She has three times as many fifty shilling notes as twenty shilling
coins. If altogether she has sh. 3,400, find the number of fifty shilling notes and 20
shilling coin. (3mks)
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4. The figure below shows a rhombus PQRS with PQ= 9cm and (BPQ=60° . SXQis a
circular arc, centre P.
S R
P Q

Calculate the area of the shaded region correct to two decimal places (Take Pie=
2207) (4 mks)

5. Solve the equation 2x 2 + 3x=5 by completing the square method
(3mks)

6. Simplify the expression 3x204xy2+y
(3mks)

Ox2fi y2

7. Solve the equation 8x2+ 2x 0 3 =0 hence solve the equation 8Cos?2y +2Cosy 06 3=0
For the range 0 %<y <1800
(4mks)
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8. Show that the points P(3,4), Q(4,3) and R(1,6 ) are collinear.
(3mks)

9. Solve the inequalities XO 2 x MX+71O hence represent the solution on a
number line. (3mks)

10. The mean of five numbers is 20. The mean of the first three numbers is 16. The
fifth number is greater than the fourth by 8. Find the fifth number.
(3mks)

11. The volume of two similar solid spheres are 4752cm 3 and 1408cm 3. If the

surface area of the small sphere is 352cm 2, find the surface area of the larger sphere.
(3mks)

12. Solve for x in the equation “2log 281 +log 2(x - x3) =1
(3mks)
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13. A farmer has a piece of land measuring 840m by 396m. He divides it into

square plots of equal size. Find the maximum area of one plot.
(3mks)

14. a) find the inverse of the matrix
(1mk)

b) Hence solve the simultaneous equation using the matrix method
(2mks)

4x + 3y =6

3x + 5y +5

15. In the figure below O is the centre of the circle and <OAB=20 0. Find;
a) <AOB (1mk)
b) <ACB (2mks)

B
16. Each interior angle of a regular polygon is 120 0 larger than the exterior angle.
How many sides has the polygon? (3mks)

SECTION I (50MKS)
Choose any fie guestions

17. Three business partners, Bela Joan and Trinity contributed Kshs 112,000,
Ksh,128,000 and ksh,210,000 respectively to start a business. They agreed to share
their profit as follows:

30% to be shared equally
30% to be shared in the ratio of their contributions
40% to be retained for running the business.
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If at the end of the year, the business realized a profit of ksh 1.35 Million. Calculate:

a) The amount of money retained for the running of the business at the end of the
year. (Imk)

b) The difference between the amounts received by Trinity and Bela
(6mks)

c) Express Joands share as amqudofmenaytsllaggee of t h
between the three partners.

(3mks)
18. Complete the table below for the function y=x3+ 6X2 + 8x for -5 O x O1
(3mks)
X -5 -4 -3 -2 -1 0 1
X3 | -125 -64 -1 0 8
6X2 54 6 0
8X -40 -24 -16 0 8
Y 0 3 0 15

a) Draw the graph of the function y=x

3+ 6x2 + 8x for
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(use a scale of lcmto represent 1 unitonthe x -axis. 1cm to represent 5 units on the y
axis)

b) Hence use your graph to estimate the roots of the equation
X3 +5x2+ 4x= -x2 9 3x -1
(4mks)

19. Three islands P,Q,R and S are on an ocean such that island Q is 400Km on a
bearing of 030 © from island P. island R is 520Km and a bearing of 120 0 from island
Q. A port S is sighted 750Km due South of island Q.
a) Taking a scale of 1cm to represent ~ 100Km, give a scale drawing showing the relative
positions of P,Q,R and S.
(4mks)

Use the scale drawing to:
b) Find the bearing of:
I.  Island R from island P
(1mk)

ii. Port S from island R
(1mk)
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c) Find the distance between island P and R
(2mks)

d) A warship T is such that it is equidistant from the islands P,S and R. by
construction locate the position of T.

(2mks)
20. In the figure below, E is the midpoint of AB, OD:DB=@:3 and f is the point of
intersection of OE and AD.
A
F
@) D B

Given OA=a and OB=B
a) Express interms of aand b

i. AD (1mk)

i. OE 2(mks)

b) Given that AF=sAD and OF=tOE find the values of s and t
(5mks)

c) Show that E,F and O are collinear
(2mks)
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21. A bag contains 5 red, 4 white and 3 blue beads . two beads are selected at
random one after another.
a) Draw a tree diagram and show the probability space. (2mks)

b) From the tree diagram, find the probability that;

I.  The last bead selected is red (3mks)

ii.  The beads selected were of the same colour (2mks)
iii.  Atleast one of the selected beads is blue. 3(mks)
22. The table below shows how income tax was charged on income earned in a

certain year.

Taxable i ncome per year(Kenyan Rate shilling per KE
pounds
1-3630 2
3631 - 7260 3
7261 -10890 4
10891 - 14520 5
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Mr. Gideon is an employee of a certain company and earns a salary of ksh.15,200 per

month. He is housed by the company and pas a nominal rent of Ksh. 1050 per month. He
is married and is entitled to a family relief of ksh. 450 per month.

i.  Calculate his taxable income in KE p.a (2mks)

ii.  Calculate his gross tax per month. (4mks)
iii. Calculate his net tax per month (2mks)
iv.  Calculate his net salary per month (2mks)

23. The table below shows the distribution of mathematics marks of form 4
candindates in Mavoko Secondary school.
Marks 10-20 |20-30 |30-40 |40-50 |50-60 |60-70 |70-80 |80-90 |90-100
F 4 7 12 9 15 23 21 5 4
Use the above date to calculate:
a) Mean using assumed mean of 65 (3mks)
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b) Median (3mks)
c) Standard deviation (4mks)
24. Coast bus left Nairobi at 8.00am and travelled towards Mombasa at an average

speed of 80Km/hr. At 8.30am, Lamu bus left Mombasa towards Nairobi at an
average speed of 120 km per hour. Given that the distance between Nairobi and
Mombasa is 400Km.: determine:

i.  The time Lamu bus arrived in Nairobi. (2mks)

ii.  The time the two buses met. (4mks)

iii.  The distance from Nairobi to the point where the two buses met.
(2mks)
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iv. How far coast bus is from Mombasa when Lamu bus arrives in Nairobi
(3mks)
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Grand Total

This paper consists of 16 printed pages .Candidates should check the question paper to
Ensure that all the pages are printed as indicated and no question(s) are missing

SECTION A (50 MARKS )
Answer all the questions in this section
1. Use logarithm table to evaluate. 4 mks

2. 200 cn?of acid is mixed with 300 cof alcohol. If the densities of acid and alcohol are 1.08%4md
0.8 g/cnirespectively, calculate the density of the mixture.
3 mks

3. The coordinates of P and Q are P(5, 1) and Q(11, 4) point M divides line PQ in the ratio
2 : 1. Find the magnitude of vector OM. (3 marks)
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Monthly income in Kshl Tax rate in each Ks
17 9680 10%
96817 18800 15%
18801i 27920 20%
279217 37040 25%
Over 37040 30%

4. The table below shows income tiates in a certain year.

In that year, a monthly personal tax relief of Ksh. 1056 was allowed. Calculate the nioedhie tax paid by an
employee who earned a monthly salary of Ksh 32500. (4 mks)

5. Make the subject of the formulae. 3mks

6. A line passes through points (2, 5) and has a gradient of 2.
(a) Determine its equation in the form . 2mks
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(b) Find the angle it makes with-axis. 1mk

7. A quantityP is partly constant and partly varies as the cub@.0tWhenQ=1, P=23 and wher =2, P=
44. Find the value d® whenQ = 5. 3mks

8. The vertices of &riangle are A(1, 2) , B(3,5)and C(4,1). Thewo di nat es of CO t he
translation vector T are (&2).
(a) Determine the translation vector T. 1mk

(b) Findtheceor di nates of A6 and BO uZmédser the tra

9. (a) Exmnd using the binomial expansion. 1mk
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Use the first three terms of the expansion in (a) above to find the value of (0.98)
correct to nearest hundredth. 2mks

10.Find the centre and radius of a circle with equation:
c2+y?-6c+8yil 11=0 (8mks)

11.Two grades of coffee one costing sh.42 per kilogram and the other costing sh.47 per kilogram are to b
mixed in order to produce a blend worth sh.46 per kilogram in what proportion should they be mixed.
(3mks)

12.Pipe A can fill an empty water tank in 3 hours while pipe B can fill the same tank in 5 hours. While the
tank can be emptied by pipe C in 15 hours. Pipe A and B are opened at the same time when the tank
empty. If one hour later pipe Cadso opened. Find the total time taken to fill the tank.
4 mks.

13. Simplify the expression: 3mks.
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14. A business bought 300 kg of tomatoes at Ksh. 30 per kg. He lost 20% due to waste. If he has to make
profit 20%, at how muchper kilogram should he sell the tomatoes.
3mks.

15. Evaluate without using a Mathematical table or a calculator.
Log, 216+ [Log 42- Log 6] - Log 49 (2mks

16. Given that the ratio , find the ratio (3 mk)
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-4 -3 -2 -1 0 1 2 3
-64 27
SECTION IT
20 (50mks)

Answer only five
guestions in this section in the spaces provide
17.Draw the graph of for values of x in the range
5mks

(a) By drawing suitable straight line on the saaxés, solve the equations.
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)] 1mks
i) 2mks
iii) 2mks
a2 1§
g o0

18. A transformation represented by the ma¢ maps the points A(0, 0), B(2, 0), C(2,3) and
D(0, 3) of the quad ABCD onto AB1CD! respectively.
a) Draw the quadrilateral ABCD and its imag&1C*D?. (3mks)

b) Hence or otherwise determine the area of A'B1C*D?. (2mks)
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& -19g

&£, 48
c) Another transformatio ¢ 1 0+ maps AlB1C'D? onto A1BH1C1DY,
Draw the image A11B11C11D11, (2mks)

d) Determine the single matrix which maps AB11C11D hbadkBED. (3mks)

19.1n the figurebelow (not drawn to scale) AB = 8cm, AC = 6cm, AD = 7cm, CD = 2.82cm and
angle CAB =50°.

Calculate (to 2d.p.)

(@  the length BC. (3 marks)
(b)  the size of angle ABC. (3 marks)
(c) size of angle CAD. (3 marks)

For more Eresources Call: 0705 525657



mwalimuepublishers@gmail.com

(d) Calculate the area of triangle ACD. (2 marks)

20.Three variables P, Q and R are such that P varies directly as Q and inversely as the square of R.
a) WhenP =18, Q=24 and R =4.
Find P when Q = 30 arid = 10. (3mks)

(b) Express P interms of Q and R. (Imk)

(c) If Qisincreased by 20% and R is decreased by 10% find:
(i) A simplified expression for the change in P in terms of Q and R. (3mks)

(i) The percentage change in P. (3mks)
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21. A surveyor recorded the following information in his field book after taking measurement in metres of &
plot.

To E
1000

880 320 toD
720to F 640
480 600to C
240t0 G 400
200 400to B

From A
(a) Sketch the layoudf the plot. 4 mks.

(b) Calculate the area of the plot in hectares. 6mks
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22. Alline L passes through point2( 3) and {1,6) and is perpendicular to a line P-4t§).
a) Find the equation of L. (2 mks)

b) Find the equation d? in the form ax + by = ¢, where a, b and ¢ are constan{2 mks)

c) Given that another line Q is parallel to L and passes through point (1,2) find the x and y intercepts of Q.
(3 mks)

d) Find the point of intersection of lines P and Q. (3 mks)
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23.The figure below shows a square ABCD point V is vertically above middle of the base ABCD. AB =
10cm and VC = 13cm.

oy 2 i AP S e R
e C;’/ T st ot
(o h
(=
Find;
(a) the length of diagonal AC (2mks)
(b) the height of the pyramid (2mks)
(c) theacute angle between VB and base ABCD. (2mks)
d) the acute angle between BVA and ABCD. (2mks)
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e) the angle between AVB and DVC. (2mks)

24.The diagram below represents a conical vessel which stands vertically. The which starallyyertic
The vessels contains water to a depth of 30cm. The radius of the surface in the vessel is 21cm. (Take
p=22/7).

a) Calculate the volume of the water in the vessels ih cm 3mks

b) When a metal sphere is completely submergddearwater, the level of the water in the vessels

rises by 6cm.

Calculate:

(1 The radius of the new water surface in the vessel, (2mks)
(i) The volume of the metal sphere intm (3mks)
(i) The radius of the sphere. (3mks)
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Answer all the questions in this section in the spaces provided

1a)Distinguish between flood irrigation and basin irrigation (Imk)
b) Give two maintenance practices required in flood irrigation system. (Imk)
2) State the fate of water @efd to soil in crop field. (2mks)

3a)Name two crops which after harvesting are processed using a flail. (Imk)
b) What name is give to the practice in 3a above. (1/2mk)
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4State two conditions under which opportunity cost can be zero. (2mks)

5. Shown below is part of a record found in Nyali farm

S ePCr P, T Fres Ziw nre—azaemxr® INsrEAerxzicd Tocar razdwace Cioren

a)i ldentify the type of record shown above. (Imk)
i) Give reason for your answer to a (i) above. (Imk)
b)What other column should be added to this record, to makenplete. (Imk)

6Give two disadvantages associated with burning as a land clearing method. (1mk)
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7(a)Name three components of rooting mixture used in polythene sleeves in raising tree seedlings.
(3mks)

b) State two benefits of usipplythene sleeves, in raising tree seedlings. (2mks)

8. a)Define tissue culture. (Imk)

bGive three advantages of tissue culture

9. Shown below is the average yield and total digestible nutrients (TDN) per hectare of hay cut in June July,
August and September
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a)From the graph identify the relationship between average yield and total digestible nutrients of hay.
(AmK)

a) From the graph, identify the most appropriate month of harvesting hay.  (1mk)

10. Outline how the age of an animal influences the quality of farm yard manure production form it.
(1mk)

11. List four soil requirements for tomatoes. (2mks)

12. Under what circumstance are beans referred to as vegetables. (Imk)

For more Eresources Call: 0705 525657



mwalimuepublishers@gmail.com

13a) State two conditions that may lead to land fragmentation. (Imk)
b) Give two benefits of land fragmentation. (Imk)
14a) Distinguish between tillering and thinning. (Imk)
b) Give three features of an ideal green manure crop. (12/2 mks)

SECTION B (20MKS)

15 Given below is an illustration of water levels of undrained and dhainage land in the sowgrand
maturation stage of cereal crop

-/
y |
™ \ iiie
\ :

a) What benefit of land drainage is shown in the illustration above? (Imk)
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b) What three advantages may be associated witditdmage? (11/2mks)

c) State two maintenance requirements ofdilainage system. (Imk)

16. The diagrams labeled A,B and C below illustrate some weeds. Study the diagrams carefully and then
answer the questions that follow.

¥V e ¥ g ,
P »\[ P [ - iy =% 7 P
~ ~ ( = s i 7 5
,,Y,, '1‘: § \Vi\‘//‘ ‘( = ~7-/.../, S
5 e f( SRS 2 ) o= =
= S e

ST e rr. X Tmer Frin e rmmenaz & INTin Ao nind FimcanarnAanew € AT

a) Identify each of the weeds illustrated in diagram A,B and C. (BMKS)
A

B

C

B)i Classify the weedmto two groups, on the basis of their life cycles. (21/2marks)
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i) Give reasons for you answer in (bi) above. (3mks)

c)State two negative effects of weed C, on livestock. (Imk)

17. The diagram labeled E, F and G below illustrate sa@sefpund in vegetables study the diagrams carefully
and then answer the questions that follow

a) ldentify each of the pest illustrate in diagram E,F, and G. (3MKYS)

B) State the damage caused by each of the pest labeled E and F, on the hosnhkats. (
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c)Give one cultural control measure for the pest labeled E (Imk)

d) Other than vegetables name two crop plants that may be infested with the pest labeled G

SECTION C (40MKS)
Answer an two question in this section the space provided

18Discuss vegetable crops under the following siadings

a)Definition of vegetable. (Imk)
b)Management of perishability vegetables. (4mks)
c)lmportance of vegetables. (6mks
d)Common stem vegetables. (4mks)
e)Staking in tomatoes. (5mks)
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19a) Discuss budding a applied in crop production under the followingeadings

i) Timing (5mks)
i) Advantages over grafting. (4mks)
iii) Materials used. (6mks)
iv) Briefly describe whip graiftg. (5mks)
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20 Discuss wind erosion under the following-sbadings

a)Destructive effects of wind erosion on crop plants. (5mks)

e) Factors affecting susceptibility of soil to wind erosion. (15mks)
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Section | Question Maximum Candidates
score score
A 1-14 30
B 15 - 18 20
C 19 - 21 20
20
Total 90
score

This paper consists of 10 printed pages. Candidates should check the question paper to ensure that all the
Pages are printed as indicated and no questions are missing.

SECTION A: (30 MARKS)

Answer ALL questions in the spaces provided

1. (a) State four importance of keepingr abbits. (2
marks)
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(b) Name two dual purpose breeds of cattle. (1
mark)

2. Give two reasons for fl ushing in sheep management.
(2 marks)

marks)
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4. Name any four components of a zero -grazing unit.
(2 marks)

5. Give four management practices carried out in a crush.
(2 marks)

marks)
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(b) Give two ways in which the health of an animal can be restored.
(1% marks)

7. List four abnormalities which may arise during egg formation.
(2 marks)

8. Name any six milking requirements after restraining a dairy cattle.
(3 marks)
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9. Name four factors that influence the amount of concentrates fed to a milking cow.
(2 marks)

10. Give the breeding system involved in each of the following cases;

(a) Friesian sire mated with Aryshire dam. (%
mark)

% mark)

11. State four control measures of Tsetseflies. (2
marks)
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12. Name four examples of succulent feeds.
(2 marks)

13. List down three methods of treating bloat. (1%
marks)
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14. Give four reasons for maintaining farm tools. (2
marks)

SECTION B: (20 MARKS)

Answer ALL the questions in the spaces provided.

15. (a) The diagram below represents a cross  -section of a f loor of a permanent milking shed.
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(i) Label on the diagram, the layers marked 1, 2, 3 and 4. (2
marks)

(i) State two factors that influence quality of concrete.
marks)

16. Below is a diagram illustrating a farm structure. Study it carefully and answer the
guestions below.
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(a) ldentify the structure.
mark)

marks)

(c) State the factors to consider when siting the structure.
(2 marks)

17. Below are illustrations of live stock parasites. Study them and answer the questions
that follow.
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(a) ldentify the parasites A and B. (2
marks)

(b) State two control measures for parasite B. (2
marks)

(c) Give two symptoms of parasite A attack on cattle.
(2 marks)

18. Study the illustrations below and answer the questions below and answer the questions
that follow.
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(a) ldentify the tools J, K, L and M. (4

marks)

SECTION C: (40 MARKS)

Answer any TWO questions from this section in the spaces provided.

19. (a) Discuss five factors considered when constructing a farm structure.
(5 marks)
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(b) State any five factors that should be considered when choosing tools and equipment
to use in the

farm. (5
marks)

(c) Describe ten management practices carried out on a fish pond.
(10 marks)

20. (a) Compare the use of animal drawn implement to tractor drawn implements.
(10 marks)

(b) Describe any five maintenance practices carried out on an ox -drawn plough.
(5 marks)

(c) Discuss the advantages and disadvan  tages of using tractor hire serves in the farm
over using own

tractor. 5
marks)

21. (a) Describe the general effects of parasites on livestock.
(8 marks)

(b) Describ e East Coast Fever (ECF) under the following sub -headings.

() Animal attacked (1
mark)

(i) Causal agent (1 mark)

(i) Vectors (1
mark)

(iv) Symptoms (5 marks)
(v) Control measures (2
marks)

(d) Name any four internal predisposing factors of animal diseases.
(2 marks)
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DATE Class

KCSE PRE -MOCK EXAMINATION YEAR 2020

BIO PP1
TIME:

INSTRUCTIONS:

Answer all the questions in the spaces provided
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1. Name the part of a flower that develops into:

[i] Seed [1mK]

[ii] Fruit [1mK]

2. State two ways in whidtoating leaves of aquatic plants are adapted to gaseous exchange. [2mk]

3. The diagram below represents a stage during cell division

[ a] [i] Identify the stage of cell division [1mK]

[iilGive two reasons for your answer in [a] [i] above [2mK]
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[b] Name the structures labeled M [1mKk]
[b] Name the class to which millipede belongs [1mk]
4[a] Distinguish between the terms [2mK]

Homodont and heterodont

[b]what is the function of the carnassial teeth [2mK]

5.An A blood group patient involved in aroad accident required an urgent blood transfusion. His relatives were
invited to donate blood.

[a]Name the possible relative who would not donate blood to him [2mK]

[b]State why the others would not be in a position to donate blood to him [2mK]

6. The flow chart shows a part of a food relationshipie@system
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[a];ij Name the food relationship shown [1mk]

[il How many trophic levels are shown in the diagram [1mK]
[b]What is the main source of energy in the ecosystem [1mK]
[Amk]

7. Name the only epidermal cell in plattiat contain chloroplast

8. The equation below represents a metabolic process that occurs in the mammalian lives

Amino Acids Enzyme X organic compound
[1mK]

[a]Name the process that represents the above equation

[b]ldentify the enzyme represented by x [1mK]
[c] What is the importance of the process to the mammal [1mK]
[1mK]

9. [a] Name the carbohydrate that sored in mammalian muscle

[b]What name is used to describe removal of indigestible and undigested food material from the
[AmK]
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10.[a]Carl Linnaeus developed tlaonomic units of classification

[IWhat is taxonomy [1mKk]

[ii]lwhy was the system of classification by carl linneaus described as natural system of classification
[2mkK]

11. Phagocytes also called granulocytes or polymorphs are cells found in the blood whose they ingest pathogens and
debris

[ilwhy are they called polymorphs. [1mK]

[iilName the cell organelle most abumian phagocytes to enable them function effectively [1mK]

12. Name the:
[a] Material that strengthens xylem tissue [1mK]
[b]Tissue that is removed when the part of a plant is ringed [1mK]

13. The diagram below represents a cell organelle.

R T T
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[i]State the function of this organelle [1mKk]

[ilName each of the parts A and B

A [1mK]
B [1mK]
14. In which two wgs do guard cells differ from other epidermal cells [2mk]

15.Through cellular respiration, the chemical energy stored in glucose molecule is converted into which specific
molecule [BmK]

[b]JName the substance thedeed up chemical reaction without being used up in those reactions

[1mK]

16.During germination and early growth, the dry weight of endosperm decreases while that of embryo increase
explain [2mK]
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17. The diagrams below show changes in the life cycle of flowering plants

[[[Complete the table below by choosing the letters from the diagram which refers to each of the stages given
[4mK]

STAGE OF LIFE CYCLE LETTER
Male gametophyte
Tube nucleus
Female gamete
Male gamete

[1mk]

3 [a]. State 2 characteristics of kingdom Monera that are not found in other kingdoms [2mk]

19.State three ways by which plants compensate for lack of the ability to move from one place to another
[3mk]

20. State three physiological processes that are involved in movements of substances across the cell membrane
[3mK]

21. If the human pancrease is not functional:
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[a]Name the hormone which will be deficient [1mK]

[b]JName the disease the human is likely to suffer from [1mK]

22. The oxidation state of a certain food is represented iBi@chemical equation

2CGH,O-2N + 6Q (NH4)2 CO, + 5COQ +5H,0

[a] Calculate the respiratory quotients[RQ] of the food substance [2mK]

[b]ldentify the food substrate [1mK]

23. The diagram below shows an apparatus used during collection of specimen

[a]ldentify the apparatus [1mK]

[b]What is the use of the apparatus named above [1mK]
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24. State two factors in an ecosystem thaafthe distribution of organisms [2mks]

25. A DNA strand has the following base sequence GCCTAG ATCAC

What is the sequence of the

[i] Complementary DNA strand [1mK]
[ii] M -RNA strand copied from this DNA strand [1mK]
26. State three limitations of fossil records as evidence of organic evolution [Bmk]

27. How does nutrition as a characteristic of living organism differ in plants and animals [2mK]

28.State the function of the following parts of a light microscope .

[i] Body tube [1mK]
[ii] Diaphragm [1mK]
29. State three characteristics of gaseous exchange surfaces [B3mK]
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30. State two sources of variations [2mk]

KCSE PRE -MOCK EXAMINATION YEAR 2020

BIOLOGY FORM 4 PAPER 2
TIME 2 Hrs
NAME: eéééeeééeeceééeceécécecceeété&&aeedAd®dM NOLASS:
Instructions to candidates: Answer All Questions in the Spaces Provided
1. The diagram shows two types of cells placed in a certain solution. Study them and answ

guestions that follow
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a. Name the physiological process responsiblebierires results. [1 Mark]

b. Give the correct biological term used to describe cells A & B.  [2 Marks]
Al

Bi

2. The equation below shows a chemical reaction that takes place in plants.

Carbon (iv) oxide + water A + water
a. ldentify substance A. [1 Mark]
b. Name the process represented by the equation. [1 Mark]

c. Other than the reactants staieonditions necessary for this reacti¢p.Marks]
i
i.
3. The diagram below illustrates an experiment used to determine rate of resfiiration in
insect.
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a. Name the chemical compound labeled X and state its function. [2 Marks]
Compound

Functioin

b. Why is the conical flask placed in a water bath? [1 Mark]

c. What would happen to the level of coloured water after 5 minute2MaqBisin:

d. How can a control experiment be set? [1 Mark]

4. In a biology lesson a student collected the animal in the diagram below.
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Use it to answer questions that follow;

a. Name the phylum and class to which the organism belongs
[1 Mark]

I. Phylum
[1 Mark]

il. Class
[4 Marks]

b. Give two reasons for your answer in 1 (i), (ii) above

5. The diagram below represents a plant in the division Byrophyta:

L Lroln & J « j f ? Z
i
|
L
AT /;J%\
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W .
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a. Name the parts labeled [5 Marks]
U
W
X
Y
Z
b. Name one function of part labeled. [3 Marks]
X
Y
Z

6.
a. It is observed that when apical bud of a plant is removed, lateral buds sprouts, wh
they do not sprout in presence of the apical bud;

I. What is the biological term used to describe this? [1 Mark]
ii. Give one application of this phenonagmigutture. [1 Mark]
b. State four roles of IAA in plant growth and development: [4 Marks]
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c. In epigeal germination the cotyledon is brought above the soil surfaces; Explain
[2 Marks]

7.
a. State 2 structural modifications of nephldessrt mammals. [2 Marks]

b. State a kidney disease whose symptom is coloured and turbid ufih&ark]

8. In a biological experiment; a cross was made between a tall pea plant & dwarfs plar
progeny was selfed and the resulting plamsawepdure in the ratio of 3:1. Make a
biological cross to show these outcomes. [4 Marks]

9. Explain geographical distribution as evidence of organic evolution.[2 Marks]
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SECTION B

Answer Questions 10 (Compulsory) and either question 11 omlthé Spaces Provided

10.The table below shows the changes observed in the dry weight in milligrams of a ba
seedling, its embryo and Endosperm during the first ten days after the onset of gern

Dry weight in milligrams
Time (days) Embryo Endosperm Whole seedling
0 2 41 45
2 2 39 43
4 7 32 41
6 15 21 38
8 22 11 35
10 35 6 43
a. Using a suitable scale and on the same axis, plot a graph of dry weight of embryao
endosperm and whole seedling against time. [8 Marks]
b. State and accounttf@ changes in dry weight shown by:
I. Endosperm [4 Marks]
li. Embryo [4 Marks]
c. Explain the role of water during germination [4 Marks]
11.
a. Describe how the mammalian heart is adapted to its function  [10 Marks]
b. How does gaseous excharkgepiace in terrestrial plants? [10 Marks]
12.

a. How is the Epidermis of a green plant adapted to its function? [6 Marks]
b. Describe how structural factors affect rate of transpiration in plarji&Marks]
c. Describe how xerophytes adapted to minimizesvatérelio habitat. [6 Marks]
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KCSE PRE -MOCK EXAMINATION YEAR 2020

PAPER 231/3

PRACTICAL.

QUESTIONS.

MAX.40 MKS.

ANSWER ALL THE QUESTION IN THE SPACES PROVIDED.
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Answer all the questions in the spaces provided.
1. You areprovided with substance L.Carry out food tests on the substance using the reagents
provided .Record your procedure , observations and conclusions in the table below.(9mks)

Q

©o N O~ ®WDN

NP RPRPRRPRPRRRRERR
CLOWoxoNoUO ~MwdEO
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21.

22.

23.

24.

Food substance Procedure Observation Conclusions

During a
visit to a
museum,
students
were
shown
ten

specimens of organisms on display.The teacher provided a dichotomous key (shown in a separate page) to
enable them to place each species on display into its taxonomic group. Five of theespdbat were on
display are shown in the diagrams provided.

Dichotomous Key.
1. (a) Animal with a flattened bodyé.. écéeé
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(b) Ani mal without a flattened bodyéééeeéeeeceéec
2.(@)Animal with bodyinashel é e e é é 6 éééeééeéééeéé. Mol |l usca.

(b) Ani mal with body in shell ééééééeéécééeécé
3.(a)Ani mal with segmented bodyée.. éééeeéée
(b) Ani mal with body not segmentedééééeecéée

4.(a)Animal with jointed appendages go to 6.
(b) Animal without jointed appendages to 5.

5. (a) Ani mal with |l ong and cyndrical bodyéé
(b) Ani mal with short stout bodyééééééeeéceceec
6. (a) Animal with antennaeééeéeéeéeééééééececece
(b) Animal withoutanterme é. . éééééééeééeéééeéeéé.go to 8
7. (a) Ani mal with one pair of antennaeéééeé
(b) Animal with more than one pair of ante
8.(@)Animal with pinceil i ke mout hpartsééééeéééeeééeéeé. . A

(b) Animalwithse ki ng mout h partséééééééecéeeceéeeée. é. f
9.(a)Animal withlongribbod i ke body éeéééeééééé. ééeéée.cest
(b) Animal with circular bodyééééééééecéeececeéc
Use the dichotomous key to identify the taxonomic group of each of the five speciroemsiish

the drawings.

In each case, show in sequence the steps (ef 1a,2a,5a, 7b) in the key that you followed to arrive
at the identify of each specimen.(5mks)
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